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4.

"Who discovered Rh factor?
(A) James Watson (B) Robert Hook
M Landsteiner Carl (D) William Harvey

Rh sryenfl wrymed semeflwiiul L g?
(A) Cgbei eum_ge B) grurl ap~&
(C) amerevenLa & D) eflewedlwb apmied

Which of the following is male accessory reproductive glands in mammals?
(A) Gastric gland (B) Mushroom shaped gland
\M Prostate gland (D) Inguinal gland

Sipsam_eupBled Lrgn i uller e GeaniQumes seenr sTUSWLINTEG @MULIS 6T5I?

(A)  smevlM& sy (B) wavemd euigeu &y
(C) UGrmavCGLL &rud D) @engere synd
Haemoglobin, haemocyanin, serum, albumin are type of proteins.
(A) regulatory ;ﬂr transport
(C) storage (D) protective
afGur@Germien, afGoramswaflar, &b, gyabler duama - QUENS L|THLD.
(A sLUuBEsID “(B) sLsgID
(C) Cablgg eeud@ld D) ungsriuefé@n
IUCN headquarters is at
W Morges, Switzerland (B) Paris, France
(C) Vienna, Australia (D) New York, USA

@. .8 eran. FamevenoudLb amm@@@uug
(A)  wrirQgev, sefl_sirenbsl B) unrflev, Gyrerev
(C)  eflwenenm, e0HCreSlwim : D) Puwris, uj.eTev.6).
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10.

11.

Which of the following rocks is different from the remaining three on the basis of its mode of
origin? '
(A) Limestone : \@(Marble

(C) Sandstone (D) Shale

Geareumeuanaupmer ehs s utep CsmHp eums smreaRTons WLHDH APID CuMSSHTE (HH)
Coaupu®@mg?

A) samarssd : B) uveling

©) wewpHse : (D) sefluurem

Which day the Clean Sea-2017 ;;vas conducted by the Indian Coast Guard?
(A)  29% December 2017 (B) 28" November 2017
(C) 29 November 2017 \M 30t November 2017

- “sgsonen sL& 2017 eranp uuGpSew erpg prefld QnSHu sLGeon sreud LmL Qslizsg?

A 29 gepur2017 ' (B) 28 peubuir 2017
(C) 29 paubuir 2017 (D) 30 peuibuir 2017

Which scheme is launched for the simplified and transparent administration of registration
department in Tamil Nadu?

(A) STAR 1.0 (B) STAR3.0
(C) STAR1 \V STAR 2.0

sfpssde udasgeon srnled o BaurssuulHeter eeflewwrear wHHDL  CeueiiLieLwiren
Bireursid g iLienLulleomer FL b erg?

(A) evmil.0 B) evmr3.0

(C) oevmrl D) evm2.0

Which year, the first Radio programme was broadcast by the Radio Club of Bombay?
&) 1920 B~ 1923
(©) 1925 ‘(D) 1927

ubumis eurQermed Hers gang WPHe @eLILITU®U Sleuridlw e H
A) 1920 (B) 1923
(C) 1925 D) 1927

5 AOEGS/18
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12.  Which of the following are the geographical landmarks?
(1) Grand Canyon National Park
(i1))  Mount Rainer National Park
(111) Delvis Tower
(iv) , Panner Sultan Park

M (1), (ii) and (iii) are correct (B) (1), (i1) and (iv) are correct
(C) (1), 1) and (iv) are correct (D) (i), (i1i) and (iv) are correct

EC Qar@ésiiu’Laiphle ereneu Lefufwed Hlev Henwirarmser?
(1) &Cren_ semumen Coflws Lymiasm

(i)  Quererr Crient Cadlw LymisT

(i) Quéefled Laui

(iv)  Lieenit HeGmen LyBisT

A) @), (i) womw (1) sflureree (B) (), (i) womd (iv) sflwrereneu
©) (@), (ii) wpmd (v) sflurerenes (D) (i), (iii) wHmbd (v) sflwurarees

13. Who is the Chief Ministér of Tamilnadu during the period May 2015?

(1) Thiru. O. Panner Selvam

(11)  Thiru. Edappadi K. Palanisamy

(111)  Selvi. J. Jeyalalitha

(iv)  Governor Rule ‘ _ ;

@A) (Gv)only &7 () and Gii)
(€C) (i) and (ii) (D) (il'.i) only

Guo 2015 srevs_L g8l s10pa apgaeunms Lsel eudlggeali wirr?
@) . O. venafir@saweuld

(i1) | . er_iumg K. upaflems

(i) Geael. Q. AguaadsT

(iv) seuferm 8

A)  (@v) bl P B) @) wppw (iii)
© () wpgd (ii) D) (i) B
14.  The Widow Remarriage Act was passed in the year
i~ 1856 B) 1857
(C) 1858 (D) 1859

flgeneu oyioeard L b erIGUNg @wiHmOL L g?
(A) 1856 : (B) 1857
(C) 1858 (D) 1859

AOEGS/18 6



15. Match List I with List II and select the correct answer.

(a)
(b)
(c)
(d)

B)
(©)
D)

List I

Pabna movement
Moplah rebellion

Deccan riots

Bardoli movement

(a)
2
2

4
3

(b)
4

4
3
2

(©)

- D QO

(d)

e e O

P S0/ MR

List 11

Maharastra
East Bengal

Gujarat
Malabar

U iquied I 2. e uL@ch'o II-g Quirpsd, sflwrer eflen_amwg CoirbOsHEseD.

' uigwed I . uligwe IT
(a) uwmiem @Qussd ) 1 LOGTTTagL T
(b) mlerT Se&Dd 2. p&E euBISTETLD
() soaTET HOHD 3. GRS
(d) uiGsned @uissd 4. LDGOLITIT
(a) (b) (©) (d)
Aa 2 4 1 3
B 2 4 3 1
©C) 4 3 2 1
D) 3 2 1 4
16.  Who founded the Amrita Bazar Patrika? _
M Sisirkumar Ghosh (B) Rabindranath Tagore
(C) Harish chandra Ghosh (D) S.N. Banarji
2bflgr ugnt usdilsmaamw Hyefweur wri?
A) Afigort Camey B) @uaipHrnrs sreat
(©) anflev sy Camey (D) S.N. urenig

17.  Who described Bal Gangadhar Tilak as the ‘Father of Indian Unrest’?
W~ Valentine Chirol
Minto-I1

©

®)
@)

Disraeli
Chelmsford

uresksTsr Hosor QS Sowdulamowlen shas aeam emaisgeauir wmi?

A)
(©)

Geuaentent_eir SCrmed
: WerGLn—I1

(B)

 ga0Gyell

(D) QawevGuri(®

AOEGS/18
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18.  Match the following and choose the correct answer using codes given below.

(a)
(b)
(e)
(d)

v
(B)
(©
(D)

Scheme - Year
Indira Awas Yojana 1. 2003
National Social Assistance Programme 2. 2009
National Rural Drinking Water Programme 3. 1995
Nirmal Gram Puraskar 4. 1985
(a) (b) (© (d)

4 3 2 1

L8 2 3 4

3 4 1 2

2 1 3 4

Epsam_cupenn @GHuSLgenuig Qur@sS sflwrear ellenanw Cairey Qeiis.

(a)
(b)
(c)
(d)

A)

(B)
©
(D)

19. . Accor
(A)
(B)
©)

S QU(BLLD
@Sy Hevaney eSH&Hid HL b 1. 2003
Casflw seps 2 565 L 1b 2. 2009
Caélw 2ays @g B eupri@d b 3. 1995
Casélw Slgmo ssrgmy Sl ib 4. 1985
(a) (b) (©) (d)

4 3 2 1

1 2 3 4

3 4 1 2

2 1 3 4

ding to Article I of the Indian Constitution, the territory of India can be classified into
Territories of the States
Union territories

Territories that may be acqun'ed by Government of India at anytime

M Territories of the States, Union territories and territories that may be acquired by

Government of India at any time

@hHu srflueemwviy sl el geandler Ly @bHw Flouriiy aaany amyunssiul Herers.

(A)
B)
(©)
D)

AOEGS/18
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20. Which one of the following is a Government Scheme for the benefit of women in difficult
circumstances?

(A) Indira Gandhi Matriva Sahyog Yojana

\‘(Ef Swadar

(C)  Priyadarshini
(D) Sabla

Sipssam_aiphled Anmssigwrar @pHlaauld Gnésn waalhasns AararBariulL UL ag?
A)  @pdyr arpd wrsfeur s&Cwrs Guimgent '

B) eveugmi -

©) YGNwugiafenf

(D) smaer

2%t.  Which one of the following is NOT true in case of National Emergency?

(A) It is imposed either in the whole country or only a part of it is threatened by war or
armed rebellion '

(B) It has drastic effects not only on the fundamental rights, but also the centre-state
relations ;

W It suspends the government and ordinary law courts
(D) It has specific and detailed provision in the constitution

Spssar_auphe Csflu Apmssy. Hae Gsmiunaeabile ergl o @ Hevwing?

A) @bdwur q,o@mw‘%@tb.ad)cug @ LEH&EE AswaussLLHEDS

B) @& iglivemL 2 fmwamar L [HWo®, LSSL-LTH 2 Pes@ETLLD urd&sma)
(C)  wipsmhisD wHmID sTETra SHammhsmer sHETElHLTES AFELOLLMOD &GS
D) @ Osriiurs srdluempiids GAUGLL Hpib eifleirer oibskiser 2 drerg)

22. Who wrote the book “The Indian Constitution, Corner stone of a Nation”?
W~ Granville Austin (B) K.C. Wheare
(C)  Paul Appleby (D) Harold Laski

“@pHu srfluemnli : CoesHdan apamasad” aenp Hrame er(pdluieul wim?
(A)  dygreneiled 2y evig.6o B) K.C.eawr
(C) umed s nGerenL (D) Qangre® mevd

L 4 ' 9 AOEGS/18
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23, Consider the following statements.

Statement I . The anti-Indian policy of Lord Curzon was greatly responsible for the
rise of extremists.

Statement II : The partition of Bengal added fuel to fire.

Which statement is/are correct?

(A) Tonly \I/Both Iand II

(C) IIonly (D) Neither I nor 11

Spasen_ cursHuriseamer seuafl.

amssl 1 sisan Qyuelean @QpHunellpE adgren Gamereasser Sefljaundsaiian e
i smyemromullhm).

ampg I :  ekisrer Gfellener erflujb Sufé eramQemnis 2erhBluig) Cumed Ludpm.

@eupled erg)/eTaneu #fl?

A ITwl@ewo B) T wpmwll

©) IIwli@wo (D) I-b@Geea II-b Qaema

24.  Which one of the following is not correctly matched?

7 Sabarmadi Ashram - 19i6
I1. Champara}n Satyagraha - 1918
ITII.  Rowlatt Act - 1919
IV.  Non Co-operation Movement 1920
@ 1 B
© I - ® v

Epsaa smphmisEnar erg sflurs Qunmbseldamen?

7 sumbdl yevrDd - 1916
II.  sbumrgren ssHwndlysid - 1918
III. Qpeterr & Lib - 1919
IV.  slcopgiyQussod . - 1920
@ I ' ®B) I
(C) I D) IV

AOEGS/18 ' 10 _ ®




25.

26.

27.

The Regulating Act of 1773 was passed by whom? :
(A) Lord William Bentinck (B) Lord Macaulay
\M Lord North y (D) Lord Hastings

1773 b par® @UHGeD s_L b wrred HlepGappriuilLg?
A)  eflevedlwid GQuiasrigm gLy (B) QussrGe Gy

(€) pmig Yy _ (D) Gapeiogriied Gy

The tools of fiscal policy of India
(A) Public Revenue and Public Debt.
(B)  Public Expenditure and Public Debt.
(" Public Revenue, Public Expenditure and Public Debt.
(D)  Public Expenditure only :

@QpHw HHs Qsrerensufen smellaer wrene?

(A)  Qung eumeumis HYID QLTSS S

(B) - Qumgs Qaeey HMID GQW@&;&\.@T

(C) Qurg eumeumis, QuTgFCswa LHMID Qu‘ngés &L
D) Qumgé Qsewey L (HD

Who is the Governor of Reserve Bank of India?
(A)  Mr. Raguram Shri Rajan
(B) Mr. Y.V. Reddy

@™ Mr. Urjit Patel
(D) Mr. Bimal Jalan

@QpHuw wiHw eundullen sauiert wTT?
(A) Mr. ggymb b prggen

(B) Mr. Y.V.Qrilig

(C) Mr. camgl L GLed

(D)  Mr. Sweé geomen |

11
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28.  The first Ryotwari settlement was made in ———— in the year
W Madrasin 1972 ~ : (B) Agrain 1970
(C) Bengalin 1971 (D) Mumbai in 1969

" 5@ quauril Gel oG ahig ruGurg SleumsliuLLg?
(A) Qsemenamruier 19726 (B) <pamgmefileb 19706
(C) amsragded 19716 D) @weuude 19696

29.  Match the names of the Chairman in List I with the ﬁnance commission in List II
List I List IT
(a) Nand Kishore Singh
(b) Vijay L. Kelhar
(¢) C. Rangarajan
(d) Y. Venugopal Reddy

14t Finance Commission
12t Finance Commission

15 Finance Commission

Ll B

13% Finance Commission

(a) (b) (© (d)

PO I
O N B A

1
1
o
1

uigwe I-é @mésw someaisafda Quuisamer LCgwd II-@ Qmsaw HHs @wssGarm®
QurmsS sflwrer elen_amws CoipAsH :

U igwied I ucquwe IT
(@) mps HCagmit Ak 1. ldaug A& G
(b) eflggus ered. Cadamit 2. 12aug Hds @
(© & yasyrgen 3.  1Seug s G
d) . CaugnCarumed Q. 4.  13eug HHs G

(a) (b) (© (d)

A 2 3 4 1
B) 3 2 4 1
(C) 4 3 2 1
D) 3 4 2 1

AOEGS/18 12 | @



30. A train 130 m long is moving at a speed of 65 km per hour. How long it will take to pass an

electric pole

\M 7.2 seconds (B) 6.8 seconds
(C) 8.9 seconds (D) 6.3 seconds

130 8§ ferpeLw e @OL @ruide Caisb, warllég 65 .0 aaflled, @ Ween sbusdaan s
218l TH5HZI6 Qamem@nd Gy wrg)?

(A) 7.2 eflearmg.ser (B) 6.8 aflenmigser

(C) 8.9 ellarmgser ‘ D) 6.3 eflenmigser

31. In an examination out of 480 students, 85% of the girls and 70% of the boys are passed. How
many boys appeared in the examination, if total pass percentage was 75% 3

& 320 B) 340
(©) |

360 D) 370

480 GumsE BpLEsiLLL Gsialed Querseiie 85%apid, pamaates 70%apd Carédl Quppen.
@muranmd Csisg 75% Gsiid Qupp Heoauld Csieay epdu Qurgs yamsaflen araranflsms

GreueUeTeY? .
@) 320 ! | (B) 340
(C) 360 ' (D) 370

32.  The sum of two numbers is 216 and their H.C.F. is 27. The numbers are

W 27, 189 (B) 81,189

(C) 108, 108 : ' (D) 154, 162

Q® cramsaiien s 216 YD Siger 158.Aur.au 27 erafled, Sips eTermser
A) 27,189 (B) 81,189
(C) 108,108 (D) 154, 162

* 13 AOEGS/18
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33. Find the compound interest on Rs. 8,000 at 15% per annum for 2 years 4 months,
compounded annually.

@A) 3110 & 3109

(C) 3106 (D) 3108

. 8,000-6@ pamenE 15% ey dssdd 2 oyam® wHph 4 wrssdpatear s () QUL igenul

semtés (Hs.
(A) 3110 (B) 3109
(C) 3106 (D) 3108

34. Find out the wrong number in the series
190, 166, 145, 128, 112, 100, 91
A 100 166

| | (B)
©) 145 27 128

Gerésuul L Agm_Md Simwbs Seuprar aTammems sraTs.
190, 166, 145, 128, 112, I100, 91

(A 100 (B) 166
(C) 145 (D) 128

35. A can do a piece of work in 10 days. B can do it in 15 days. How much does each of them get
if they finish the work and earn Rs. 1,500?

(A)  Rs. 700, Rs. 800 (B) Rs. 500, Rs. 1,000
#” Rs. 600, Rs. 900 (D) Rs. 800, Rs. 700

A g0 Camaemwu 10 prisagib, B sims 15 priseligib, Qeiig wryuui. Gmaumbd Csibg
SlauGaimaamus Qalig m. 1,5008 rgame, isasramsmu ereueumm 9M&gE Qarareur?

(A) e 700, ¢m. 800 (B) em. 500, em. 1,000

(© . 600, m. 900 (D) em. 800, em. 700

AOEGS/18 14 : TS




36.

317.

38.

H.C.F. of two numbers is 8. Which one of the following can never be their L.C.M?
a) 24 B) 48
©) 56 P 60
@ cansaian B.0ure 8 aafld Spssamapper g SibHS aanseflar 5.QurL & QHES
Quieng?
(A) 24 (B) 48
(C 56 (D) 60
The H.C.F. of 2% x32 x5%x7, 2°x3%x5%x7% and 3x5x7x11 is
W™ 105 (B) 1155
(C) 2310 D) 27720 II
24 % 3% x 5% x7, 2°x3%x5%x 7% wpgb 3x5x7x11 -ar S iy
A 105 (B) 1155
(C) 2310 (D) 27720
The smallest fraction which should be subtracted from the.sum of 1%, 2-;—, 5—1'-75, 3% and 2-};
to make the result a whole number is
5} )
N/ gy
1
) = M 7
2
Y B L e ¢ e A S8 s o : . "
IZ’ 2—2-, 51—2-, 3-5 LHMILD 22 erenp Wenaniusafian sl (5 Osmes @@ P TaTaas Sl &5
aps BssdPlu Geanarsmss sflés CouamBo
5 . 7
A — fLE
il 12 . ®) 12
1
€)= D 7
2
15 AOEGS/18
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39.  Ifx% of y is equal to z, Then what percent of z is x?

2
3 Y A
(A) o
100

¥

©

y

(B) o0

\M/ 100?
y

y-en x% sgeiglonang) zi@ swib erafld x eramug) z- THSMEN FH6IHLD?

2
R
@) 100
10

b 4

©

40. Volume of the cube =

(A « &

©) 3ad°

san sgISlen sen yene, =
@A a’

© 3

41.  For a triangle ABC, the true statement is

(A) AC?=AB?+BC?

(C) AC>AB+BC

4
B) 100%
100?
)
@ y
cubic units.
B) +2a?
o @
EE |G EET.
B) 2a°
® d°
AC = AB + BC

@’ AC <AB+BC

w&Caremmd ABC e erg) 2 a@menio aumaiwid erand sa)

(A) AC?=AB?+BC?

(C) AC>AB+BC

AOEGS/18

(B) AC=AB+BC
(D) AC<AB+BC
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42.

43.

44.

Two taps can fill a tank in 30 minutes and 40 minutes. Another tap can empty it in
24 minutes. If the tank is empty and all the three taps are kept open, in how much time the
tank will be filled?

W 1hour (B) 2 hour

(C) 3 hour (D) 4 hour

em Gsm_yew @ Grnise salssaiCu weapGu 30 Al tisdr, 40 il kisafie Hyoydnsg.
wH@prm Gemi Bi HroGu Gsmgew 24 Al kisafd sre Qeuuw. Agry srdlurs Qmbs
@apenn GmisEsb @Cr sowsHe Hppbe Sl Ll L, asgsmen waflCrsdd Hlpbyw?

(A) 1 we=fl (B) 2we=f

© 3wef D) 4 wasfl

An ester used as medicine is
(A)  ethyl acetate - M methyl salicylate

_(C)  ethyl benzoate (D) methyl benzoate

WDHBSTEL LWEGTU(HILD eTavLiT |
A asde ACLL _ (B) Guwsde srelifiGar
©) esfe QueanGerGui : D) Qusfe QuenGarGui

Which organic compounds polymerize to form the polyester Dacron?
(A) Propylene and ethylene glycol
(B) Terethalic acid and ethylene glycol
(C) Benzoic acid and ethanol
\Q)/’ Dimethyl terephalate and ethylene glycol

e seflng Gaimob ueugLTEsIULH ALsrTer urelevL i HaLSpg?
(A) yruleler wHmib erdHleSan HenersaTa

B) Qufgredls sufleb wHHID rsHeSen enerssmed

(C) Quensmuils led WHDID TSSENTED

(D) mL_Qmp,ﬂa) QuAurGaL_ Hmib ergHleSer Qmm&srra)
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45.  The fertilizer which is called as ‘nitrolim’ is
(A)  Super phosphate (B) Calcium ammonium nitrate
M Calcium cyanaxﬁide (D) Sodium nitrate

‘@pLCrmeild’ erenpenip&sLiLI(Hid 2 7ib
A) @uuirureGul (B) smoflwibd SbCureflub epl Gy

©) sroflub swearewn(® (D) Gsmgwibd a);bl'_(‘}m'_'

46.  What type of mirror is used in solar cookers?
(A) Plane mirror (B) Convex mirror

w Concave mirror (D) Bifocal mirror

aTHg eumSLITET S lq.&6m CemenT Gasraafle LweLBSSILGEDS?
(A)  swger gy B)  ©eil g
©  efag D) @ wpsiy 2y

47.  Why the wings of an aeroplane are shaped with lower surface being flat and the upper
surface being curved?

(A)  to reduce vibrations

\M to make difference in pressure to lift the plane vertically
(C)  to accommodate more passenger in the wing
(D)  to strengthen the wheel fitted in wings

eflwrer @péemsuden Ly swwrseab GHUTLIL QUMETaTSELD @muug gen?
A) efimus Gopss »

(B) LIPULL Si(Psssms e-am_rédl efloranseng CQepbus Qe

©) ofswre Lwafsmar @pamsseaie g

D) @néwssaie QuTEBSSILL Heter s6a158HE adlon Coiés
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48.

49.

50.

Where is ‘Vulcan City’ located?

(A) Cuba ' M Canada

(C) USA (D) Mexico

‘QUESTEN BHETLD GTMhIE SEMDHSIETETS]?
(A) Syur B) sem
(©) =Qwhss gadhu prHser D) QuwsalGsr

Which of the following is known as ‘Selvas’?

(A) Mangrove forest

@( Evergreen forest of Amazon
(C)  Deciduous forest
(D) Thorn forest

Speumeuaneaupmer ‘Qedeuren’ crepenpSsLILHeugl TH?
(A)  wrEsme &T{H&ET

(B) =Cuwsren Ls@WWLIDTS ST(HESET

(C)\ QaawBi sr@&S6T

D) @lystssrser

The position of earth farthest from the sun is termed as
(A) Perihelion ®7 Aphelion
' (C) Solstice : (D) Equinox

 ye @Awellmps Was Apreaeeid Bm&EED Heae Geueurm Si@PsEILREDS.

A) Quiabdewer (B) swabaSlwenr
(C) & Hmuud (D) swusdITey
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51.  Which is not true of a prokaryotic cell?

(A4)
(B)
(©)

No mitotic cell division
DNA not associated with proteins in chromosomes
Typical cell organelles like mitochondria are absent

Membrane-bound nucleus

uGrGaflumiyé Qe Ghldg g e arew Gdama?

(A)
B)
©
D)

@wLrélev Qsd LELY HerLwg
&GrmGnGsmbsafley 4. eram.or.-ayL et Lyysid QenemridmLLSdeme
@l GLrsram_fwur Guren Qs o piiLser @muuddme

seuailanmed GULL L 2 U s,

52.  The Cs pathway of CO: fixation was discovered by

(A)
(©)

Arnon \®~ Hatch and Slack

Calvin (D) Hill

CiaufigsL b gpeid sflwible eumy Beowfinsssme sarHbseu

(A)
©

2y Teumes (B)  Gami&wpmid svers
&mevedl et D) abe

53; Find the correct statement/s -

I Signal molecule carries a message to the target cell.

II. Target cell detects the signal molecules and receive the message.

(A) Iwrong II correct (B) Icorrect IT wrong

(C)  BothI and II wrong \@7T" Both I and II correct

sflwurar sapenp Cairey Qeuss :

L aléens apaésapad, Qsidow Gabes QsaraEnéE arH551E Qswdamen.

II. QesE Qsdsdr, slflsmssmer sam_flbg QswiHeaw Qupdemer.

@A) . lgegyDah B) &A1l seugy

©) T wpgdIT geugy D) I wpgwo I sh
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54.

55.

56.

57.

“She Means Business” programme for women entrgpreneurs launched in which state?
(A) Karnataka Odisha
(C) Kerala (D)  Tamil Nadu
“She Means Business” eramp Quair @gmfler oifluméesman S oz SiodUSHL wrHeb 6rg?
A)  sTBTLST (B) eflem
(C) Gsyerm D) sOpBrEH
This award is to honour eminent coaches who have successfully trained sports persons or
teams and enabled them to achieve outstanding results in international competitions
\W Dronacharya Award (B) Arjuna Award
(C)  Dhyan Chand Award (D) Rajiv Gandhi Khel Ratna Award
sirauCGss 2jarelled a‘:'lmaﬁurrL@é glapaatie) eSyirsefen wpp eflenerum Bz Hmener Qeuafl &0 EmranT(Hid
Apps edenenum B LD PSTTEEHEES HBESTTD QIPMREIGLD auamsuié aupmsULIGHLD eSlmS!
A)  sCrremmsmRwi edlms) (B) e efl(mg
(C) Hwren spg Mmz D) grgleu snpH Caed pgenm 6Nl (B!
India witnessed the Goods and Services Tax (GST) is introduced on
(A) 1%t June 2017 1st July 2017
(C) 5t July 2017 (D) 5% June 2017
@pHwreller #76@E LHHD Caameu aufl (GST) Sidpsiu®SsuIuLL BTeT
A) 1,89ean2017 B) 1, m9we 2017
(C) 5,9 2017 : (D) 5, g9en 2017
How much grant provided by India to Seychelles in the field of development assistance
during the year 20157 ;
(A) US $ 6.5 million &7 US $ 4.3 million
(C) US $ 3.6 million (D) US $ 1.2 million
., 2015 gy FOFLE @4 WTEES auerié 2_gell HHwrs @pEwim aupiflu Qgrens ereucuerea,?
A) 6.5 Beoellwen 2Qwfés Lrei (B) 4.3 Bodwer 2@wfés Lrer
(C) 3.6 Beedlwen 2Quwfés L (D) 1.2 Beodlwen 2GwM&Es LreiT
21 . AOEGS/18
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58.  When did the ISRO launch the GSLV-F08 rocket with GSAT-6A satellite?
(A) 29 April 2018 &7 29 March 2018
(C) 28 February 2018 (D) 29 January 2018

gfleraveravefl-6r. (108 TrEQsL epeid glemt -6a QewiparssCamaner QavGrm er@Qunpg siepnwg?
(A) 29 qupe 2018 (B) 29 wmits 2018 '
(C) 28 9u0peuf 2018 (D) 29 gameuf 2018

59.  Which of the following oceans are connected by Panama Canal?
(A) Pacific and Indian Ocean
\,ﬂf Pacific and Atlantic Ocean
(C) Atlantic and Indian Ocean
(D)  Atlantic and Artic Ocean

Sleieu(meuaTauDOIET LIGTMON STOGUML ppeLd @aertésiiLiHib Gu@réxél.d)&dt ereneu?
@A)  udds wpmb @HHw QumEs 6

B)  udGE wHmID B eraTy s QUmEHEE D

©) Sl eramgs wHpb @bHu Qumks_H

D) sl erargs LHHID Spies QudhS_D®

60. How many players were participated in Boxing, 51 kg weight women’s category in 21t
Commonwealth games at Australia? <

N ®) 9

C) 8 : D) 6

2cvfCraflwmeiler penQuipp 21-eug) smoam@eues eflenemwuim_ig.ed, 51 HCer GsgisaTeL QuansaT
erenLi 19flefléd Quomgsid ergsenen Guit sevbg) QaTer_ami?

@A 7 B) 9
© 8 D) 6
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61.

62.

63.

64.

Which of the following country is not included in “Fragile Five"?
(A) Brazil (B) India
M Nepal (D) South Africa

Qemaumeuareupmier ‘et pig’ (Fragile Five)-@é Quib@uprs s orgi?
(A) YGCrée ¥ B @vdwur
(C) Cpumer (D) Qserenmdfssm
Name of the award which was awarded by Government of India in 2018 to Mrs. Lakshmi
Navaneetha Krishnan for her folk songs \
(A) Padma Bhushan \M Padma Sri
(C) Padma Vibhushan (D) Bharat Ratna
Qb @sThsssTd 2018-gpd O Hmwd. wLsb paubs SHmeyamren UTE G SN
BT LILD UTLOSEESTS aUBISLILILL efl(mg) 6T ? : '
(A)  udw ygern (B) wusw b
(C)  usw eflysen (D) unys psenm
When was the policy “National Mineral Exploration Policy” launched?

July 2016 (B) June 2016
(C) August 2016 (D) May 2016
.GTL'.IGLJn'g] “Cgflu saflo piies Aamdes” aremp LD e (HATESILLLE?
A) gOame 2016 (B) 29ar2016
(©) yseav 2016 D) GCuw2016
Who is the author of the book named “Red Birds"?
(A) Mr. Shyam Saran (B) Mr. Chetan Bhagat

Mr. Mohammed Hanif (D) Mr. Gulzar
“Red Birds” erenmm mnedienm p&fluwiir wimi?
A) . eflwmbd syewr (B) Hm. Colem uma
(C) A pswg aneils (D) Sy, @evsnt
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653,  Who was the First Indian to preach the gospel of Swadeshi?
(A) Raja Ram Mohan Roy \ﬂ(‘ Dayanand Saraswathi
(C) Ramakrishna Paramahamsa (D) Annie Besant

&Gzl dararansemw wpgaled 2 LCsHSs @b wri?

(A)  grgmymb Cuorse Fmi : : (B) swrenhs syeveud
(C)  grwfimeyenr LFLADDET (D) yeraNQuaa_

66.  Haroon Minar was built by Akbar in memory of his

(A) Wife (B) Son

(C) Horse \Wf Elephant
WrmenLw Hlenaneuna anmmet WeTTeny &L Sl armiT?

(A) weared (B) wsen

©C) ©GHeny (D) wrenen

67.  Consider the following statement about Vallabhai Patel.
1 ¢ He organized no-tax campaign in Bardoli district.

2 He was arrested during the civil disobedience movement.

3. In 1946, he selected as Minister in charge of Home Affairs.

4, He died in 1952. .

Which of the statements given above is/are correct?

(A) 1and 4 only correct (B) 1, 3 and 4 only correct
@f 1, 2 and 3 only correct (D) 1 and 2 only correct

aueeuml ULGLmeU uphlu Spssar_ wursdunismer sauaféseayb.
1. uiGgredl wreu L sfé auf@sr_r Qusssms pLsHeni.
2. sLLbpuyY QussidlaGung emag Qaliwiul L.

3. 19466 2_ergienm Mevwaagrs Ggirey Aewiwiu_ L.

4. 1952-6 @euir @uihens erisdermir .

orgl/eremeu &M/ seumy? -

A) 1 wpgbd 4 WG &M (B) 1, 3 whmb 4 w_Gib & -
©) 1, 2uwppw 3w @w s (D) 1 wHmw 2w Hw
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68.

69.

~ (a) Helical rod shaped

By whom was the Aihole inscription composed?
(A)  Pulkesin II 4 (B) Pulkesin I
W& Ravikirti ' (D) Asoka

wCare sOGaL ML AFTGSSauT WTi?
A) ydGsH-II B) yaIGasl-1
(C) peil&isd D) oCanai

Match the List-I (Shapes of viruses) with List-II (Examples) and choose the correct answer
using the codes given below.

List-I List-II
Bacteriophage
(b) Brick shaped Tobacco mosaic virus
(¢) Tadpole shaped

(d) Bullet shaped
(a) (b) (c) (d)

Rabies virus

it

Pox virus

A 2 1 3 4
@ 2 4 1 3

©) 2 3 4 .

D) 3 1 2 4

U igwd-1 (eeurevaefien euiqaumisET) 2 L e Ul igwe [-g (esmemaet) QuT®mSE. &G 2 emer
QgL mbg sfwrar ellanws Qzfe) Qels.

ulgue-I - ulgwe-TI
(a) &(meT Qe G augaud CusleflwsQasmeaed eaunren
(b) Qamse® eugeud ‘ Lensufenel) LIeUaRTERTL) Li&6 eneu e

(¢) sl aigaild Qaupmissiy eauren

ol A o

(d) yeeLl euigeuld S|LDEMLD MEUTEV

(a) (b) © (CY

A 2 1 3 4
B) 2 4 1 3
© 2 3 4 1
D) 3 1 2 4
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70.  How many recommendations were made by Ashok Mehta Committee report?

@A) 122 G 132

C) 142 . AD) 152

2(Gené Cogsr @ assmar LNbgamrsamer PaTmeusSs5g) ?
Aa) 122 (B) 132
© 142 . (D) 152

71.  The First Public Service Commission in India was set up in the year

W 1926 (B) 1935
©) 1947 D) 1950

@pHureder pgen Wgans CaifauraeRTuLd SenDESLILIL L <D
(4) 1926 (B) 1935
(©) 1947 (D) 1950

72.  Which among the following, forms a committee for recommending a chairperson of State
Human Rights Commission?

W Chief Minister, Speaker, Home Minister, Opposition Leader
(B)  Governor, Chief Minister, Home Minister, Opposition Leaéler
(C)  Chief Minister, High Court J udge, Opposition Leader
(D)  Chief Minister, Opposition Leader, Governor

Spssam_aupiled wrfle wealls 2 Nawsdr Spmarmugslen senaweuany Lfpgenr Qe G TFI?
(A)  pse@wss, sUTEMUST, 2 dTgI@D SIMWEST, adlisa g gamaeur

(B) 2bEBBT, WPHOMIEST, 2 STgImD Diemést, rdisal fi someeui

©)  wsoewss, e wigdivdn BHud, adlirés_ s seeur

D)  ppemwss, afiss A soeai, D apHT
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73.  Which one of the foiléwing programmes was launched on bctober 2, 2014?
W Swachh Bharat Mission
(B) Beti Bachao Beti Padhao
(C) Atal Pension Yojana
(D) Deen Dayal Upadhyaya Grameen Kaushalya Yojana

Spssar_aupfle SsGLmui 2, 20146 SN apstILBSSUILLL S erg?
(A) seauFurrs b

B) Guilig uéGsr Cuiig LGsT

(C) @ie Quenger Cuirgerm

D) S gwrer e umgwmur HymSer Asersdwim GurgerT

74. The Chairman of the Rajya Sabha is elected by
(A) elected members of the Rajya Sabha
.(B) all members of the Rajya Sabha
W elected members of the Parliament
(D) all members of the Parliament

QW MU ST @euf&ere Csiih@sHasuu @S pmT
Q) Csipes@ssiiulL prgw smu o priSanisdr
(B) prRw semL JmaTS 2 puQeniser

(©) Csip@sdsslulL ummEsen e plidaise
D) ummEnLaD SiMaTGg e pUILarTaeT

75.  In which schedule division of powers are enumerated?

(A)  9th schedule (B) 8th schedule
\% 7th schedule "~ (D) 12t» schedule

‘S BITEEGLD, LTH ATESED AHETTL LRE® ebs L Lamearuie GHOGaLLLLBerens?
(A)  Yeug SiLLcuenemt (B) 8eug 3L euéenent

(C) T7eug SiLLeuemenT (D) 12cug) i L cuanent
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76. Who passed a law permitting persons to inherit ancestral property even on changing
religion?

(A) Warren Hastings
(B) Lord Dalhousie
(C) Lord Ripon
B Lord William Bentinck

OUO®LW wELMHDSADGL Garyd seaig apsraswui QsrsHod UBIE@ e eenp FUL Smss
Qarear(® eupgeurr wmir?

(A)  eunmen éﬂndl)lq.fﬁldv

B)  LoQaperd Gy

©  Aduer Qgy

D) eflevedwid Quasrig s gy

77.  Who was the President of congress, at the time of Quit India movement?
(A) M.K. Gandhi (B) Nehru
& Abul Kalam Azad D) Gokhale

GevarenamuGer QeuafCuy @wisssHen Gurg, @bdw CaAlw srisdyfler semaeui wri?
A) MK &nph : B) Cnm
©) @y swmb s (D) CsrsCe

78.  Who was the seventh Nizam of Hyderabad? _
" Mir Usman Ali (B).. Mirza Ismail
(C) Laik Ali (D) Musafar Ali

@ansrTUNSHen arpreug Blamb wiri?
(A)  Bit 2 aGvwmerr 26l (B), WBlirsr @eviomule
(©) Qews e D) qpsmuir 26
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80.

81.

“Ever increasing state activities” is the law of
(A)  Pecola-Wiseman (B) P.A. Musgrave
(C) J.M. Keynes W ‘Adolph Wagner

“ sflan Qeaaysdr 2idlsfsss Qanamy médng” aan eldamw auprdueur
(A) QuCsrer-emeevGer (B) P.A. wevélCyeu

(C) J.M. e : D) SLTU aurseTiT

The plan outlay for industrial sector during the first plan in India was
W Rs. 55 crore (B) Rs. 550 crore
(C) Rs. 97 crore A (D) Rs. 425 crore

@pdHwrelar ppsarag S L sHo Asmfd sopsdsen Qewiul L Qurés &S0
(A)  mumi 55 Camg. B) esumi 550 Camig.

(C) epumi 97 Gsmg. (D) epumis 425 Csmg.

With reference to the World Bank estimate, what is the share of service sector in total

employment in India during 2017?
(A) 44% B) 25%

\39)/ 31% D) 33%

o @& akdlar sarssl iyl 2017 yamgd @bdureie o erer LG Qurgs Asmflemerisafic
agsmen sp6lldsd Cuir Cemaid gleopude FHUL® eumSlenpen?

A) 44% B) 25%

€ 31% (D) 33%
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85. A-B_C thenfind A:B:C
8 45
(A) 4:3:5 : B) 5:4:3
O 8:4:6 (D) 20:15:2
é=£=—c—ﬂéﬂ6.\)AZBZC5ﬁaﬁT.
vat> & g
(A) 4:3:5 B) 5:4:3
(C) 3:4:5 D) 20:15:2

86.  The sum of two numbers is 45. Their difference is -51)— of their sum. Their L.C.M. is

100 B) 150

(C) 200 ; D) 250

Qm aansailer sl ( Agres 45. el eramsatien G@gun@ Siaupder sl (S Asresuden
% WL hETEWD erafld siaielm eramsafldn S iy

¢ (A 100 B) 150
(C) 200 D) 250 ;

87. If x% of a is the same as y% of b, then find 2% of b

A 2% ofa ®B) 2% of a
z x
xz
M =% of a (D) None of these
. :

“a-an x% erenuig) b-er y% H@ &wib ereflled b-am 2% smer

@A)  a-ar 2% ®B) a-a L%
z X
(©) .a-em Xy ' ! D) egeyame
y o _
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9.

92.

93.

Mature sperms are stored here.
(A) Vas deferens

\M Seminal vesicle
(C) Epididymis

(D) Seminiferous tubules

awpdihs ebsaidaer @@ Callss) meudsILHEDS)
(A)  eumev 1gLITeTED :
(B) Qsfered elfdlem

(C)  engiqudlen

(D) GeblelQuye GYRTUSET

Area of a triangle is

(A) base x height \ﬂ( —;—x base x height

(C) 2 base x height ) % (base + height)
Wp&CamagSlen LFLILIETR]

(A)  SIgliuEsDd X 2 Wb (B) % X g ILGSD X 2 Wb
(C) 2 x SglILEsD X 2 WIFD (D) —;- (i LiLGsD + 2 Wiyib)

From the solid cube having side of 20 cm, how many number of small cubes having side 5 cm

can be formed? :
@) 46 \,6( 64

(C) 56 (D) 48

00 Q18 LiEs oerey QaranL AL sa 8517 2 HUSHS MBS, THHMaN 5 Q&8 Lss jerey AaTarm. Sp
S san sHIRGEMET 2 (HATSHOTD? ;

(A) 46 (B) 64

(C)y 56 (D) 48
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94. The following circular graph shows the amounts that a family spends on food, clothing, rent,
miscellaneous expenditure and savings.

%r:t Food
108°
Cloths —>Savings
720
Miscellaneous

72°

If the annual income of the family is Rs. 60000, then the savings are :
(A) Rs. 3000 M Rs. 6000
(C) Rs. 7500 (D) Rs. 9000

ECws GO LUl Geter eul L aumIULLITETS @ GOHLUSSTT 2 ey, .@L, aIT_ms, Qanrs
Geeweys6T HmiD GalliiyéeE Qeaey Qalicuenss GONIGEHng.

(1] n'L.GDQ o awray
A 108°
2L ——> Cauflly

720 .
By dewayser

72°

GObUSHen euL augporand m. 60000 eraflér @jauiaser Gafliy Asnens
(A) . 3000 (B) em. 6000
©) e 7500 (D) em. 9000
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98. Betatron is a device for accelerating

\K Electron ‘ (B) Neutron

(C)  Proton | (D) Meson

L m_mear @ggjkmm WPHEGD G Smet
(A) &L iymen : B) Hugren

(C) yCymliLmes e (D) CGuweamer

99.  One of the four purposeful functions of mass communication is to

W inform (B) initiate

(C) instigate (D) 1irritate

Qau@men Agm_inden prenE apédw @hsCamasafler @any ——— BGLD.
A)  afedsze (B) Qsr_ru@se

©) gnew(® (D) eflesgm Hze

100. Which of the following seismic waves has the shortest wavelength?

M P-waves ’ (B) S-waves

(C) L-waves (D) Pg-waves

Spssam Ho sflieumasEsdr Wss GDDHS Den@Herd GlamaT g 6T8!7?
A) P-gmeser (B) S-si@eser '

(C) L-oemasear (D) Pg-simaser
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